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The gene for red/green colour blindness is a recessive sex-linked trait. The gene for eye colour is not sex-linked. Brown eyes are dominant to blue eyes. A blue-eyed man with normal colour vision marries a woman homozygous for brown eyes and who is a carrier for colour blindness. Use a Punnett square to determine the genotypic ratios for their expected offspring.
In humans, hemophilia is a sex-linked trait where normal clotting (H) is dominant and hemophilia (h) is recessive. Tongue rolling (T) is dominant to non-rolling (t).A non-hemophiliac male and a hemophiliac female produce a child. Both the male and the female are heterozygous for tongue rolling. What is the probability of this child being a hemophiliac who is a tongue roller?

A couple has a son with muscular dystrophy and two daughters, one with the condition and one without. All three children have a widow’s peak. Neither parent has a widow’s peak. Muscular dystrophy is a recessive sex-linked trait and the widow’s peak is an autosomal recessive trait. Use a Punnett square to determine the genotype of both parents.

